H £ 0l & AF & S

Al A

SN =NEY
ma: =7)|g 1
Cel: FHAANES ME KA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SXE M 3,772,954 3,143,591 629,363
= 791,148
[ 359,011
Al 1,364,037
- 1,097,400
= 161,358
sXolet 2= 3,172,043 2,663,123 508,920
= 791,148
s 329,081
Al 1,091,072
- 879,202
= 81,540
FHOHNE 42 A 3,081,243 2,585,523 495,720
= 791,148
s 266,921
Al 1,077,752
- 863,882
= 81,540
AR SXER 8435t 4,100 24,100 /20,000
201 er23| 1,600 1,600 0
01 AtR2t2|HI 1,600 1,600 0
O=AAY g2= 400,000 x22| 800
O=X2 g R3A 2ZH S MH
80,0002 *10H 800
203 HR=H] 2,500 2,500
03 A=A R =AH] 2,500 2,500
O=XEH A=A 2,500,000& 2,500
NeiAtzl2 oM edat 93,340 83,940 9,400
Al 28,800
- 19,200
= 45,340
201 er23| 23,200 24,840 A1,640
= 23,200
01 AtR2te|Hl 23,200 24,840 21,640
OXGAeIE2E HEE2AM AR =&
100,000 *17 H#43] 6.800
= 6,800
OXIGAI2E &4REAM A =&
100,000 8 *63] 4,800
= 4,800
OXSAMSIEHEOAM d&FAs W=
500,000 <22 1,000
= 1,000




SM: =SXEMY
g =X01e 25
Cel: FHAANES ME KA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O= NGAI2ZE AN 23|
1,000,000 *97H 2 9,000
= 9,000
OXSAI2EH & AXE Al =
16,0003 503 »23] 1,600
= 1,600
307 elztol & 70,140 59,100 11,040
Al 28,800
T 19,200
= 22,140
02 QB HANEER 16,000 10,000 6,000
OXSGAZI S 2AM SSHAIGHI(EX)
12,000,000 12,000
Al 7,200
T 4,800
OXISGAS S &AM SSAGHI(XEAI)
4,000,000 4,000
= 4,000
03 I HEE2SHIEx 54,140 49,100 5,040
OXIGAMSEEEOM dgels QIAHI(EX
) 3,000,000& *12& 36,000
Al 21,600
- 14,400
OXSGAZI S oAM Meeled lAH|(FIt
THIRE) 920,000 * 122 11,040
= 11,040
OXGASI2HE oM e WKL
500,000 500
= 500
OXYARIEEE M AFR=2 22|
550,000& * 122 6,600
= 6.600
7 SN2 38,790 38,790
201 fet= 3| 24,490 24,490
03 A= &I 24,490 24,490
OS¢g, Ldx S it 2,000,000 2,000
OFAIZEE € HMEFA 23]
6,000,000 6,000
OHAAIE (EE2, HE2) &X
9,600,000& 9,600
OEAMES 600,000 600
OZE . MERA 80 WA
5,040,000 5,040
O8=EcIEH, ZAH M
1,250,000& 1,250
301 LEetE N = 7,300 7,300 0




SN =NED
ma: =7)|g 1
SRl s dg XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 dALEEIXIZE S 7,300 7,300 0
O 24 4,000,000 4,000
OgAr=g Sl 3,300
oA 2,400,000& 2,400
o2t 900,000 900
401 Al HIZL 201 7,000 7,000
04 A2 S AIEH] 7,000 7,000
OR W&l 2,000,000& 2,000
OLED &4 (3002! X ) & X 5,000,000& 5,000
AR SX2 2 849,002 780,449 68,643
Al 714,794
- 110,298
= 24,000
307 el2tol & 849,092 780,449 68,643
Al 714,794
- 110,298
= 24,000
05 2ItRIE = 849,092 780,449 68,643
OAtel =X 29 825,092,000& 825,092
Al 714,794
- 110,298
OBIZHALRISXIAL MRS
100,000 «20E * 122 24,000
= 24,000
AR ERAIE XA 3,500 3,500
201 Zet=Ehl 2,500 2,500
01 AtR2te|HI 2,500 2,500
OAtz|=X2 ZIIEEE =2
2,500,000& 2,500
401 Al HIZL S 0HYI 1,000 1,000
01 Al&HI 1,000 1,000
OAte|= X2 Ald2c] 1,000,000 1,000
OldMY & Akt 15 1,600 1,600
201 Zet=E] 600 600
2 s5=34l 600 600
ONelis =t SSHEAIAY SHHE)|
SHR=s 50,0002 122 600
307 @I2t01 & 1,000 1,000
01 222 1,000 1,000
OO0IMe! 2Ie+3Hl 1,000,000& 1,000
ANZERHE K3 (HEAY) 337,433 259,316 78,117
301 EtE NS 337,433 259,316 78,117
0 AR=R22as 337,433 259,316 78,117




SN =NEY
Hu: =108 1%
Cel: FHAANES ME KA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAt2I=2HE XIE 337,433
cdEYS 800,000 x32& 122 307,200
o=LH0YI 2,600 x32H 22 x 12 21,965
S 330,720 x25H 8,268
ARISXIAE HREX 33,264 28,512 4,752
301 EtEE S 33,264 28,512 4,752
0 AR=SR22a= 33,264 28,512 4,752
OABl=2ge EA
7,000 x18Z+222U x 12 33,264
AR SXNEREX 16,632 15,840 792
301 EtE2 NS 16,632 15,840 792
10 M=SRREES 16,632 15,840 792
OAZI=223 SAHI
7,000« 0222 x 12 16,632
FLOI 2 XN 52,400 52,400 0
Al 40,000
T 10,000
= 2,400
307 21201 & 52,400 52,400 0
Al 40,000
- 10,000
= 2,400
10 AlISXAEEHE 22X 52,400 52,400 0
OZ=0 28 50,000,000 50,000
Al 40,000
- 10,000
OFC0R! gR=(BHE) X2
200,000 122 2,400
= 2,400
DIESE S e g 6,000 6,000 0
Al 3,000
- 3,000
307 elztol & 6,000 6,000 0
Al 3,000
- 3,000
10 Al SAAIEEHE 22X 6,000 6,000 0
OJl==Ew3 =24 6,000,000& 6,000
Al 3,000
- 3,000
T8 FSTAE =A 2l 56,820 16,980 39,840
201 et 3| 6,820 11,980 A5,160
02 s3=gHl 6.820 11,980 25,160
O=8 =SA4 R 22 6.820




SN =NEY
ma: =7)|g 1
Cel: FHAANES ME KA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oIt 2| r+=
150,000& * 12 1,800
oAZIOIN BRI YA AT
130,000& 122 1,560
o) HPEx2 170,000« 12& 2,040
osdl| IEBE=+& 220,000 220
o RQIAHIAA 100,000 122 1,200
401 AIZHIX R0 50,000 5,000 45,000
01 AlZH| 50,000 5,000 45,000
O==83 &X 50,000,000 50,000
AHIA G 2dal X2 6,530 6,530 0
201 2= 2,630 2,630
01 At22t2l] 2,630 2,630
OFd3(E)IE 8¢ M=
11,0002 +300H 330
Osle=XX2 HUHEEZ NE S
1,000 *2,0000HK 2,000
ONTALINT BBTUIZY 22E
100,000 *30H A 300
301 22N = 3,900 3,900 0
03 AR 2HHFS(XLH) 3,000 0 3,000
ORBAIT EHEBIMNA
1,000,000 374 A 3,000
14 DBt 2 a=S 900 900 0
OMNETHEDIIF AHASALAL JIEHE2S
20,0002 x 15 *3 & 900
ANZT SEA2el X 15,000 16,680 1,680
[ 7,500
Al 3,750
- 3,750
201 er2&y| 7,500 7,500 0
[ 3,750
Al 1,875
- 1,875
01 At2teltl 7,500 7,500 0
OAtell2te] alel+=g S JIEtZ 3
7,500,000& 7,500
[ 3,750
Al 1,875
T 1,875
301 LEtE N = 7,500 7,500 0
[ 3,750
Al 1,875
T 1,875
01 ARIE2EHSFS(RRNEERTHE) 7,500 7,500 0




SN =NEY
e
chel: FoOiE ME N (el mg)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
OAtdIZ2rel AbHI 7,500,000 7,500
= 3,750
Al 1,875
- 1,875
S Atd2el 43t XY 560 560
201 2egh=3| 560 560
01 AR 2| 560 560
OAIZI2IA 27 22
8,000 x2&H »36 560
2Z=A 925,912 464,909 461,003
= 740,730
Al 92,591
T 92,591
301 LtENZ 925,912 464,909 461,003
= 740,730
Al 92,591
- 92,591
01 Al EH AT Z2(ZDEZME) 925,912 464,909 461,003
O2E=RA 925,912,000 925,912
= 740,730
Al 92,591
- 92,591
8=k 24 1,200 1,200 0
201 2egh=3| 1,200 1,200
01 At2telt] 1,200 1,200
SHEVEREETIPS=
100,000 62 »23] 1,200
KISAS MEIA SEXAIS (KISIHLE) 335,230 341,204 A5,974
[ 234,662
Al 50,284
T 50,284
308 AHXIEMSOIH 335,230 341,204 Ab,974
= 234,662
Al 50,284
- 50,284
11 S| 2S0UeE & HAST AL 335,230 341,204 Ab,974
OXISGIHL B A 335,230,000 335,230
s 234,662
Al 50,284
- 50,284
KSAS MEIA SETAIE 2H(XI-) 1,500 1,500 0
s 1,050
Al 225




2A:

X XH -
o=

ot
S 2=
Al

Cel: FHAANES ME KA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 225
201 er23y| 1,500 1,500 0
[ 1,050
Al 225
- 225
01 At2teltl 1,500 1,500 0
OXSIHLE H*RY 22|
1,500,000& 1,500
[ 1,050
Al 225
- 225
IR E S EE20IAY 19,633 53,508 N\33,875
[ 13,743
Al 2,945
- 2,945
308 XXM SOIA 19,633 53,508 A33,875
= 13,743
Al 2,945
- 2,945
11 SIS0t 4 A A A 19,633 53,508 A\33,875
OJtAREE SHE2ER0IAE
19,633,000 19,633
= 13,743
Al 2,945
- 2,945
D2LHY9 HE XA 68,836 210,024 A141,188
= 34,418
Al 22,922
- 11,49%6
301 2eEN= 68,836 210,024 A141,188
= 34,418
Al 22,922
- 11,496
01 Al EE AL S(FREXMH) 68,836 210,024 A141,188
OZ=2LH9 L& - A2 At HEX 2|
68,836,000 68,836
= 34,418
Al 22,922
- 11,496
U SE=ESAY 2Y 100,000 100,000 0
Al 50,000
- 50,000
201 er23 | 6,000 6,000 0
Al 3,000




2A:

X XH -
o=

ot
S 2=
Al

Cel: FHAANES ME KA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 3,000
01 Al 22IH| 6,000 6,000 0
OSBE=MY B22 HE S
6,000,000& 6,000
Al 3,000
- 3,000
301 EtE NS 26,000 26,000 0
Al 13,000
- 13,000
03 A2 E A0 2 (XL THH) 26,000 0 26,000
OF %7 sgs=2ALY|
26,000,000 26,000
Al 13,000
- 13,000
307 212+01™ 68,000 68,000 0
Al 34,000
= 34,000
11 AIBI =AY X 68,000 68,000 0
OS2 23 SHEEAY
68,000,000& 68,000
Al 34,000
- 34,000
SEAtel2t2lA 1248 X 9,093 27,981 18,888
[ 3,946
Al 1,973
- 1,974
= 1,200
101 e124d| 6,353 27,981 A21,628
= 2,626
Al 1,313
- 1,314
= 1,100
MU IIRINZZENSES 6,353 27,981 N\21,628
OSESAtdIZCIAL 2= 5,253
S 2,089,300 x2H 4,179
[ 2,091
Al 1,044
- 1,044
oA2tel+=E 149,940 2 300
[ 150
Al 75
- 75
o= 0l 120,000 x2 240
[ 120




A SXNEH
ma: =7)|g 1
Cel: FHAANES ME KA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 60
= 60
cENTOBYS L YIS
533,520 534
[ 265
Al 134
= 135
OEINZHEYE L BIRYS THIRL
500,000 500
= 500
OXMd==& 600
cHESIHI 300,000 300
= 300
oS XHLE 300,000 300
= 300
201 er23 | 100 100
= 100
01 AtR2te|Hl 100 100
OB (SHAMZEIAN 0FRE X
50,0003 *2& 100
= 100
202 04| 2,640 2,640
[ 1,320
Al 660
- 660
01 2L AL 2,640 2,640
OSRX (SEAtZEIAL) S0
120,000& x12&2+120,000& « 10 2,640
[ 1,320
Al 660
- 660
2ot 285X 55,578 55,578
Al 55,578
301 EtE N = 55,578 55,578
Al 55,578
02 ARSI 2E AT S(FIANS, XLETHE) 55,578 55,578
ORud 2ae=kIXE 55,578,000 55,578
Al 55,578
FH0ISHZAZ A 8,600 8,600
[ 6.020
Al 1,290
- 1,290
308 AHAIEMSOIE 8,600 8,600
[ 6,020




SN =NEY
ma: =7)|g 1
Cel: FHAANES ME KA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,290
T 1,290
1 SIS0t 4 EAS A 8,600 8,600
OFHNISAHAS AN 8,600,000& 8,600
= 6,020
Al 1,290
- 1,290
USAH MY & 22HA 2= 40,600 40,600
= 16,000
Al 9,600
- 6,400
= 8,600
201 er23| 1,000 1,000
= 500
Al 300
- 200
01 At2teltl 1,000 1,000
OF=MH S 23U 1,000,000& 1,000
= 500
Al 300
- 200
301 EtE N = 21,600 21,600
= 6,500
Al 3,900
- 2,600
= 8,600
01 Al E2E A S (FREXM 21,600 21,600
O%E SFHUIATR
13,000,000 13,000
= 6,500
Al 3,900
- 2,600
OFHAAE SSMHIAXA
8,600,000 8,600
= 8,600
307 @I2t0| & 18,000 18,000
= 9,000
Al 5,400
- 3,600
1 AMISXAEEXS 18,000 18,000
OAlzHi=s=Zx A& & 24|
18,000,000& 18,000
= 9,000
Al 5,400




S SXHBD
Mu: =10l 2
Al

Cel: FHAANES ME KA (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| | > 3,600
s=XI|Is&3E 90,800 77,600 13,200
= 62,160
Al 13,320
- 15,320
SH=s XEE SEMUIA XZ 88,800 75,600 13,200
= 62,160
Al 13,320
- 13,320
201 B2 AY| 53,800 46,800 7,000
= 37,660
Al 8,070
- 8,070
01 AtR2elt] 53,800 46,800 7,000
S RO HASTMEIA =2
53,800,000 53,800
= 37,660
Al 8,070
- 8,070
301 LPENZ 35,000 28,800 6,200
= 24,500
Al 5,250
- 5,250
01 Al B&X2HZ2(2REETR) 35,000 28,800 6,200
O ARZUAIIT X
35,000,000 35,000
= 24,500
Al 5,250
- 5,250
KSALE QIEOIMA A5} 2,000 2,000 0
201 Let2| 2,000 2,000
01 AtR2telt] 2,000 2,000
OARXIN =2 EE22HE
1,000,000& 1,000
OQI™OotMal Akt T S
500,000& 500
O =HA SHETHIE
25,000& 2004 500
2R3 SXISH 470,570 376,470 94,100
Al 258,000
- 140,570
= 72,000
Eazel & X2 470,570 376,470 94,100
Al 258,000

_11_
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S SXEBD

BH: 2R =XE
&t 2= # XA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
232 2el 27,020 27,020
201 er23 | 24,020 24,020
2 35234l 24,020 24,020
OodJl= 1,112,000 x 122 13,344
Ot e =2
120,000& * 122 1,440
Odot=ag 150,000« 12& 1,800
O=sa 838 AH| 320,000& 22 640
OREHAIAH 198,000& * 12 2,376
oot ze| kAt W=t 60,0002 60
OsZIIEINIZA 220,000 220
OsZI8E+==2 220,000 * 122 2,640
O&stxEHAH| 300,000 300
AP VRIS 2T
100,000& * 12 1,200
401 Al HIZ R 0HbI 3,000 3,000
01 AlZ8| 3,000 3,000
2232 AlId=E =X 3,000,000& 3,000
HH2IZH(SXFHL) 130,341 103,998 26,343
= 29,930
Al 14,965
T 77,628
= 7,818
el 2E| 82,097 52,754 29,343
[ 29,930
Al 14,965
- 29,384
= 7,818
SE At Z2IAL 123 67,678 43,137 24,541
= 29,930
Al 14,965
- 14,965
= 7,818
101 @12A4H| 55,263 36,115 20,148
[ 24,632
Al 12,316
- 12,316
= 5,999
03 SR (RIH )22 U2+ 55,263 36,115 20,148
OSSAtIZCIAL 2124H|
2,089,300& x12&8+2,089,300& 102 45,965
s 22,983
Al 11,491




A SXNEH
Ho: HESAAY| (=X )
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 11,491
oot 2HIf8=
228, 13031234228, 1302« 10 5,019
= 5,019
OAIRt2l=&
149,940 x 122 +149, 9402 « 10 3,29
[ 1,649
Al 825
- 825
OAIZI2I=g FHIFE=
44,5303 122 +44,5302 x 103 980
= 980
M4 HASFESS 12,415 8,022 4,393
[ 5,298
Al 2,649
- 2,649
= 1,819
4 BRA(RIHA)22N HEERES S 12,415 1,169 11,246
OLEs!Y= 10,596,000 10,59
s 5,298
Al 2,649
- 2,649
O=EE2Rg= FHIRE=2
1,819,000 1,819
= 1,819
SEAHZCIAL AHRHHI(HRMHE =) 14,419 9,617 4,802
101 @124H| 11,956 7,272 4,684
EEESESIPTEDEED RS 11,956 7,272 4,684
O™ A
140,000& x122+140,000& 102 3,080
Og &=l 1,853,940 x2&H 3,708
Ouxtr=&t=¢
103,7203 x1624+103, 7202 » 13 3,008
OJEsg 80,0002 »122+120,000& « 102 2,160
303 Za= 2,463 2,345 118
02 d1tat0is 2,463 2,345 118
Og1tati= 1,172,4702+1,289,710& 2,463
Jl=23H 48,244 51,244 /3,000
FAII23H 48,244 51,244 23,000
201 fet= 3| 6,804 6,804 0
01 AtR2t2lHl 6,804 6,804 0
ORA29 JI2+84l 279,000+ 12 3,348
OJlz=gfd S|
8,000 x3A1% 128 * 122 3,456
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2A:

SINESES N}

M HYRAZH(SXFHL)
=l Jl=3H| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 37,440 37,440
01 2LHoIH 37,440 37,440
OJl2g R4 0yl
260,000 x 12+ 123 37,440
203 HR=AH] 3,000 3,000
MU FA2SHIFII 3,000 3,000
ORNEXZE 250,000& * 128 3,000
405 KHaHE SH 1,000 4,000 23,000
01 AL ESF=HI 1,000 4,000 23,000
OSMAMIED 7 1,000,000 1CH 1,000
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